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The after growth of ‘731 oo - XY D3O 7IBD

OVERVIEW

The X3 states that the requirement of ™2' (which is stated in the mawn
regarding 1X9), comes to exclude 7¥P1 0°00 100 from X5 21°17. Our MOOIN
will explain: a) Why single out 7¥?1 9°00 *1°90, it would be simpler to say
that any plant that is not "72' is MWD from 789, and b) why mention 159
7% 000, what is the significance that they are o°r°s0.

moon asks

— 91 VP NINX DIIN INDYT 27919 S0IWND DND MNP NDT NN
Why did not the &3 simply state that the term "70', comes to exclude
anything which is not "»>'; but instead the X3 specified that (only)
these two plants are excluded because they are not "7’

ND0IN answers:
— NYINY DN DN NPT OIYN PNXY 19929 9N
The 5''9 says that because these two plants are partially edible, therefore if

the 7awn would have stated that we are excluding plants that are not 72X, we may have
thought that since 71¥1?1 ©°00 are partially edible, they are X532 217

— 0N 1NN NN PPN 291 1IPANT )9 ¥NYN NP
The X3 teaches us that nevertheless, even by 7x1?1 0°00 the 0°1°7 of nR2
do not apply for them.

— 9799 NAIWNA TINM 12 ININY 1929 N8) 19
The 2'"'2w" found this same idea in a responsa from >''w-.

nooIN asks:
— D90 LPIT XM
Why do we mention the term 257129 in connection with this "7 of 7¥1 0°vD, since

it is seemingly irrelevant whether they are o°r°90 or not, for seemingly all 7Xp1 000 are
not an 72 (only partially 77°28 "X7) -

mooin replies:
— VTN NN RDY DN NDIINRY HY 0N DIIN DNKY NP DIV NIYT DIVYN
for perhaps 7%y owe that are planted are totally unfit for human

' 73971 0°00 are plants that are used primarily for dyeing purposes
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consumption (it is only the 71X 000 *1°o0 that are partially edible) and

therefore there would be no novelty in saying that n°v>aw does not apply to them,
for they are no different than all other types of plants that are not edible, it is only °1°50
77X 0200 that are partially edible, and therefore that is the reason why the 71wn specifies
X1 0700 1°5D, as NMdOIN pointed out previously.

Another answer in the opposite direction:
— 190995 NY) 9933 YN 11 XY SN
Or perhaps planted 7xp1 000 are considered normal food, and cannot be

excluded from %o 21rm, it is only the 7%1P1 000 o0, which are not completely edible
and therefore are excluded from 78D 21°m.

SUMMARY

The reason that the X3 excludes mX1?1 ©°W0 *°90 as not being 72’ is to
teach us that even 7X21 0°00 1°90 that are partially edible, they are still 715
from 1X9, and certainly plants that are not edible at all, are 75 from 1x>.
The reason he emphasizes X1 0°W0 190 is either because regular 00
%P1 it totally not edible (and there is no point in specifying them), or on the
contrary; regular X171 00’0 are considered as regular food (and they cannot
be excluded from 7185 271°1).

THINKING IT OVER
1. What is the connection (if any) between the two questions and answers of
mooin?

2. How can we explain the order of the two (opposing) answers® on MdoIN
second question?

* See “Thinking it over’ # 2.
? See footnote # 2.
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